=

#HERERH]

MEfTERE TRER
hOE 51‘ZJ< MO %Zk B
] 25 14 HE—% BIRE | BREE | par | asse
WET WET (567
As[9f /] | Col2fFr]
HEfHEIRET
BEE T FTHETI QV)-+ED ¢ 500 5.00 2.00 70 T
FTREIGRILEZLE) TIGEM ¢ 150 9.00 2.00 110 &HFT
SESRBUNSEE G150/ T-14 TEAY 7.00 70 @&
SESEBURLEE ¢ 150/ T-25 =AY 2.00 20 @A
BHE€ =AM 5= ¢ 150 ITOR 9.00 90 &
BIEE —— )L Bl =Rk 9.00 9.0 f&HFT
ANEEMATHSRE ¢ 150 BFHE 2.00 20 1@
NEMATHEESE 2.00 20 &HFT
EAREET 9.00 2.00 11.0 BT
FIEHGET 5.00 50 &HFT
RAEREL |MEREI 6150 18.54 5.60 241 m
M E#ET ¢ 200 15.30 153 m
B BEMERS LU ERM A5 8] ¢ 150 9.00 2.00 110 &HFT
B EMERS LU E R T35 5] ¢ 200 5.00 50 AT
TAKEREH—H 18.54 5.60 15.30 394 m
:I:I%&E:\,L,\%ﬁ
INORFEK [ hOZBEK
| swmmn st BETER | ABHED RETRE | wE
AT I I - =a
AslofmR) | colzmmr) | [SEM)
T
B ERAE A HEAEAI TOUNEIN YSED) 0.13m3 9.45 358 8.40 214 m
FRIEY(A DRI 9.45 3.58 8.40 214 m
BRIER WA ERICNINYIEY) B 0.13m3 6.03 1.82 5.55 134 m
R AERICNMINYSRY) RC 0.13m3 11.61 5.02 10.20 268 m
B ABRRICMIAYRY) M 0.13m3 1.26 0.34 1.05 26 m
FETME | FELER GERIEED 18.90 7.16 16.80 428 m
{{I-%I%&Emu%ﬁ
INORRFEK [ hORBEK
| swmmn . WETER | ABHED RETRE | wE
AT I I - =a
AslofmR) | colommr) | [SEM]
%I
SHEMBET |SERYIETI(AS) 46.08 13.20 35.60 948 m
LB T (B4R 15.12 4.04 15.30 344 m
BEHEYIHLT 0.06 006 m
BiRE 1.00 10 &
AsTRIEE 0.72 0.20 0.75 16 m
B (avh)-h) 0.99 0.28 12 m
RIS FE & (5 EW) 1.00 10 @
AsERALS 0.72 0.20 0.75 16 m
HEAKLS 0.05 0.02 0.04 01 m
BAS (Avh)-+) 0.99 0.28 12 m
HEBRELS 0.54 0.18 0.55 12 m
HEBFIBT  (SAEEIBI(BXEAs)5cmA S 18.54 4.80 15.30 386 m
avyy)—kT 0.06 01 m
TEEET |RBFEZHEES 10 =




HERRBRIEE]

BETERE THRER
INAEBK
BT ERE | WIS
I | s HE—% wEMER) T WET | anuE
(13877 [38&FR] (20t 7T)
B ERET
BERE T FTRETL QU))-+E) ¢ 500 7.00 70 fHAR
FTHRBIGRLEDILE) TIHEME ¢ 150 13.00 130 &M
SEEBIRAEE ¢ 150/ T-14 THEAY 13.00 130 {&
PrE€Z AW .57z ¢ 150 ITOR 13.00 130 @
BibE —— )L =R 13.00 130 &R
ERREET 13.00 130 &
FTERT 3.00 30 &R
BMTERET FEERETI ¢ 150 13.52 28.00 415 m
E#ET ¢ 200 3.09 30 m
B B RS LU ERT T 5 E ] 6 150 13.00 130 &R
WA EM RS LUK E IS T [5E ] ¢ 200 3.00 30 M
TKERFH—H 13.52 3.09 166 m
AEHETL |XEHLEIHPE ¢ 200~ ¢ 500 F/H. HCOEL 16.00 16.0 AT
XEEAIE THPE ¢ 600~ ¢ 1500 FRi, [FCOB L 4.00 40 &
iI;ﬁEmu%i
INAEBK
B EEE Wmﬁ #
8 | &E-RE HE—% wEfER) T aftyE
(13E/F] [3%&iFR] {20@Fﬁ}
T
ERRIEHI HWIEEI TONEAYIEY) 0.13m3 5.20 1.23 13.20 197 m
FRIEY(A SHEAIT) 5.20 1.23 13.20 197 m
EHER HWHIRABRICNMNINYH)) B 0.13m3 442 1.1 55 m
R ABRICNEINY)EY) RC 0.13m3 507 1.17 24.60 308 m
R ABRICMNIN YY) M 0.13m3 0.91 0.21 2.00 31 m
FETWE | F4ETERR BIEAD 10.40 2.46 26.40 392 m
OB (av9Y)-1) 0.77 0.77 15 m
A5 (Av9)-H) 0.77 0.77 15 m
HERELS 0.39 0.12 0.80 1.3 m
THRIMERER
hAZEEK
WA ERE | HIREE
5 £ 3 B wETER ) " T MET | anmE
[13Em/] [3tEAT] [208FRr)
%I
FERBEL |FHERTIET I(As) 40.04 9.18 76.00 1252 m
SHLERRERFE T (45 8.58 3.09 28.00 396 nf
AsH B 0.39 0.15 1.40 19 m
OB (av9Y)-1) 1.43 0.77 22
IE%%E&EM&(K@%@M) 1.00 10 H
B Sy 0.39 0.15 1.40 1.9 m
Co»xkﬁ 1.43 0.77 22 m
S HKLSD 0.05 0.01 0.09 o1 nl
HERELS 0.77 0.77 15 m
BEMHRARLERSMRRELT 208 m
BEMRIREIKRT 208 m
BESRIRAMBKEL 208 m
BRELEXRAMEET 208 m
BEMRIRER 10 =
BRELEXRAMER 1.0 =
HEFEBT  |WEEIBI(BEAs)5ScmAN 13.52 3.09 28.00 44.6
REEET |RBFHEREB 1.0 =




R E R (m) Mz AR

RE  AEEmm TEYM TR MEE gt BN mEsT

1 0.97 3.30 3.30 1100 2.80 Co500 fh14 EN As 1 BN

2 0.93 3.00 3.00 1100 2.80 FIC0500 EE As 1 fHE BT EDH
3 0.93 3.20 1100 2.80 Co500 M= As 1 BiYh

4 0.81 3.10 3.10 1100 2.80 Co500 e ES ERN Co 1 fHE 1.00%0.5Coff ¢
5 0.98 3.50 3.50 1100 2.80 FIC0500 Bk As 1 ) B{TEDH
6 0.90 3.50 1100 2.80 Co0500 W= As 1 Eyh

7 0.88 2.50 2.50 1100 2.80 Co500 AR E£RN Co 1 A 0.35 X 0.5CofE %
8 0.99 3.50 1100 2.80 Co0500 = As 1 Eyh

9 0.78 4.30 4.30 1100 2.80 FIC0500 Bk As 1 N B{TEDH
10 0.88 2.50 2.50 1100 2.80 Co500 Fh25 EE As 1 17 B

11 0.90 2.50 1100 2.80 Co500 M= As 1 BYh

12 0.92 2.60 2.60 1100 2.80 Co500 525 EE As 1 17 BN

13 0.95 0.40 0.40 300 1.11 Co500 fh14 B As 2 Bk

14 0.98 1.20 1.20 300 1.11 Co500 f514 EE As 2 B

15 0.91 1.10 1.10 300 1.11 Co500 fh14 B As 2 Bk

16 0.95 0.80 0.80 300 1.11 Co500 f514 ELE As 2 B

17 0.82 1.10 1.10 300 1.03 RIC0500 ELE As 3 B B{TEDH
18 0.93 0.90 0.90 300 1.03 AIC0500 ELE As 3 BiXh BT EDH
19 0.84 1.00 1.00 300 1.03 Co500 fh14 B As 3 Bk

20 0.83 1.00 300 1.03 Co500 wE As 3 Eyh

21 0.90 1.00 1.00 300 1.03 Co500 fh14 B As 3 Bk

22 1.00 250 1.10 T<ER wE As 4 Eyh

23 1.00 250 1.10 TER W= As 4 B

24 1.00 250 1.10 T<ER W= As 4 Eyh

25 1.00 1.00 250 1.10 P N: fh14 Bk As 4 Eyh

26 1.00 1.00 250 1.62 7<ER fh14 EE As 5 Bk

27 0.93 2.00 2.00 250 1.62 Co500 fh14 EN As 5 Bk

28 1.00 250 1.62 T<ER = As 5 Eyh

29 1.00 300 1.44 7ER wE As 6 B

30 1.00 1.00 300 1.44 FN: fh14 ERN As 7 Eyh

31 1.00 300 1.44 7ER W= As 7 B

32 1.00 300 2.21 T<ER = As 8 Eyh

33 0.90 0.45 300 2.21 Co500 M= As 8 Bk

34 0.96 1.05 1.05 300 2.21 Co0500 fh14 Bk As 8 17 B

35 0.85 1.10 1.10 300 2.21 FIC0500 ELE As 8 B B{TEDH
36 0.50 300 2.21 =J1)) wE As 8 Eyh

37 1.00 1.00 300 1.47 TER [h14 EE As 9 fHBn

38 1.12 1.40 1.40 300 1.47 Co500 fh14 ERN As 9 17 B

39 1.00 300 1.47 TER W= As 9 By
40 1.00 300 1.47 T<ER = As 9 Eyh
41 0.97 1.30 300 1.47 Co500 M= As 9 Bk
42 0.60 1.90 1.90 300 1.47 NEXHEL|  Bh14 Bk As 9 f# B
43 0.89 1.36 1.36 300 147 RIC0500 As 9 B B{TEDH
44 3.77 3.77 300 1.47 FN: fh14 Bk As 9 17 B
45 1.00 300 1.47 TER wE As 9 By
46 1.00 1.00 300 1.47 FN: fh14 Bk As 9 17 B
47 0.71 3.16 3.16 300 1.47 Co0500 EA As 9 A B{TEDH
48 1.00 300 1.47 T<ER = As 9 Eyh
49 1.00 1.00 300 1.44 P N: fh14 EA As 10 Eyh

50 1.00 1.00 300 1.44 FN: fh14 EA As 10 Eyh

51 1.00 1.00 300 1.44 P N: fh14 EA As 10 Eyh

52 1.00 300 1.44 T<ER = As 11 Eyh




INOEB KB ER AT B BV T As[##Bh]

B+ ERE: ¢ 150

No | () T BRI e om] £48U(m) AR
BN & AR &%
1 0.97 3.30 3.30 1100 2.80 Co0500 fh14
10 0.88 2.50 2.50 1100 2.80 Co500 [h25
12 0.92 2.60 2.60 1100 2.80 Co500 fh25
34 0.96 1.05 1.05 300 2.21 C0500 [514
37 1.00 1.00 300 1.47 P N: [514
38 1.12 1.40 1.40 300 1.47 C0500 [514
42 0.60 1.90 1.90 300 147 | EXMEL|  Bh14
44 3.77 3.77 300 1.47 PNz fh14
46 1.00 1.00 300 1.47 PNz 14
EH 091 2.06 2.06 2.00
= 9 k3l

INAOEB KPR B HVE T Col %/ BN ]

Bt ERE: ¢ 150

— BT EERMmM) , 2SI
No | #iEE(m) oy e R Z(mm]| LY (m) =, -
4 0.81 3.10 3.10 1100 2.80 Co0500 HEZE
7 0.88 2.50 2.50 1100 2.80 Co0500 HEAZE
) 085 2.80 2.80 2.80
= 2 k3l
I{TEETT[#E]

A+ ERE: ¢ 200

No M,?Eé(m) *gly%q%fgﬁﬂ'g;;t E‘f%(mm i*&[’)(m) Iﬁ,’lj( m 9“}2;5?&
2 0.93 3.00 3.00 1100 280 | FECo500
5 0.98 3.50 3.50 1100 2.80 FCo500
9 0.78 4.30 4.30 1100 2.80 FIC0500
43 0.89 1.36 1.36 300 1.47 FIC0500
47 0.71 3.16 3.16 300 1.47 Co0500
15 0.86 3.06 3.06 2.27

BEt 5 &R




BT ERE: ¢ 150

INAOEBKHET EEE T i)

No | iR [ P L e ) £ [
13 0.95 0.40 0.40 300 1.11 C0500 [514
14 0.98 1.20 1.20 300 1.11 C0500 [514
15 0.91 1.10 1.10 300 1.11 C0500 [514
16 0.95 0.80 0.80 300 1.11 Co500 [514
19 0.84 1.00 1.00 300 1.03 Co0500 14
21 0.90 1.00 1.00 300 1.03 Co0500 14
25 1.00 1.00 250 1.10 P N: [514
26 1.00 1.00 250 1.62 P N: [514
27 0.93 2.00 2.00 250 1.62 C0500 [514
30 1.00 1.00 300 1.44 P N: [514
49 1.00 1.00 300 1.44 PNz 14
50 1.00 1.00 300 1.44 P N: [514
51 1.00 1.00 300 1.44 PNz 14
¥ 092 1.04 1.04 1.28
= 13 =13

IfTERET[EH]
B{TER: ¢200
o | pitan | BB Lo o |
17 0.82 1.10 1.10 300 1.03 RIC0500
18 0.93 0.90 0.90 300 1.03 RIC0500
35 0.85 1.10 1.10 300 2.21 FIC0500
¥ 087 1.03 1.03 1.42
=5 3 &=




HEA ERE T (EH]

B+ ERE: ¢ 150

- B 4 & 3E R (m) , BRI
No | #tiRE(m) i NE IKEZE(mm] THY(m) = hEE
3 0.93 3.20 1100 2.80 Co500 w=

0.90 3.50 1100 2.80 Co500 I EN
8 0.99 3.50 1100 2.80 Co500 =
11 0.90 2.50 1100 2.80 Co0500 w=
20 0.83 1.00 300 1.03 Co0500 w=
22 1.00 250 1.10 FN:: I EN
23 1.00 250 1.10 FN:: =
24 1.00 250 1.10 FN:: EN
28 1.00 250 1.62 FN:: =
29 1.00 300 1.44 FN:: I EN
31 1.00 300 1.44 FN:: =
32 1.00 300 2.21 FN:: I EN
33 0.90 0.45 300 2.21 Co500 =
36 0.50 300 2.21 EiLs I EN
39 1.00 300 1.47 FN:: =
40 1.00 300 1.47 FN:: I EN
41 0.97 1.30 300 1.47 C0500 wE=
45 1.00 300 1.47 FN:: I EN
48 1.00 300 1.47 FN:: =
52 1.00 300 1.44 FN:: I EN

T 092 1.40 1.77




3 A — )
/N OBRYE KB & BUR T As[ B ) i T35 1,10,12,34,37,38,42,44,46 Tk B T3 (AR5-8)
b T [ BB RuEmL)
HufrE g ¢ 150 A O ¢ 300:1100
BER Colpt 6 500
BERMIEIT 11 | mitEER 11 [2.06 | ARG P
HIRLIZ 12 I I FE BRIFEASC 0.05
: | |
T | z LEBE M-30 0.10
[=) [=1 — g‘é
i | I N g FEEs#E RC-40 0.25
| R
il i &
w | = ' + T
= ;Eﬂ | ST h = (210 +/091 )/ 2= 151 m
& N
Gl |
i Erdll (Bt {( 151 - 005 )X 070 X 206 }/ 2 = 1.05 n
| |
_ ! fin (A1) {( 151 -/ 005 )X 070 X 206 }/ 2 = 1.05 n
|
i
! 5 ) (om0 [ones ) x[0d0 <206 = o067 i
7 |
*F B | HiL (RC) (151 - 005+ 010+ 030 + 0165 ) )
) x| 070 X 206 = 129
HHER L2 2.06 |
B (M) 0.10 X 0.70 X 2.06 = 0.14 nf
F6/E -Isy 105 +| 105 = 210 nt
e o e e | ol (5E) o i
= R A
= i g I ER L UT 2.06 x 31.3 / 1000 = 0.06 ot
£ 18 ) i S| =
ELC e ()] S E BRI 206 x| 2+ 100 x 1 = 512 m
# ' B
. I : N SRR (bR 206 x[ 100 -[088 = 168 i
o rem e ALY 168 <005 = 008 m
ST I (Y 206 | x| 1.00 = 206 i




452 = .
/N O BTG KBRS & B T.Col #B] W TP 4,7 TFARGEHR T4 (AR5-8)
§ BB Rammyy)
l*ﬁ T HufrE g ¢ 150 ENERECS o 1100
BE% Cotht ¢ 500
BERARAIE ol | HiEER L1 [2.80 I TR 1B AR AR
IR 2 | | %@ Co 0.05 KF FHIEASC 0.05
- [ I
’r : : e JERAE M-30 0.10
ol I i : o| FJE i RC-40 0.35
Sl i : 3| & FI@# M RC-40 0.25
[ — : U7
— N . —1 S
T |z I | !
% |8 i : + T
= | [ i SRR h o= (290 |+ 08 |)/2= 18 m
| | :
| ® i ! el ) (188 -[00s ) x| 070 x[ 280 )/ 2= 179 i
i !
I I
N | el (AA) {( 1.8 - 005 )X 070 x 280 }/ 2 = 179 i
i
| I () ( 030 +| 0165 ) x 070 x 2.8 = 091 -
i HR (RC) { 1.8 - ( 005 + 010 + 030 -+ 0165 )}
mE X ! x| 070 x| 28 +| 070 x| 050 x 010 = 251 o
! P (M) 0.10 X 0.70 X 240 = 0.17 ot
WEEE 1.2 2.80 | F& ALy 179 |+ 1719 = 358 i
Costhllsy (2% AT 0.11 ot
R L5y 2.80 X 313 / 1000 = 0.09 n
I N I R I | IR B8 280 X 2+ 1.00 X 1 = 6.60 m
% : o AsEliERUB R (Bt 240 X 1.00 - 038 = 202 of
fat:: 4
% |8 N\ e )LD T : . : = 0. i
RS ( ( (S) | Ln;@ HEmLDZbL T (050 X 1.00 ) X 0.05 0.03 m
ﬁ : & AsHRALSY 2.02 X 005 = 0.10 n
- F——f———_——— | —Y— Combilloy &8 0.11 + 003 = 0.14 n
N N T ] AsEiERE 1R CIn#L) 240 X 1.00 = 240 of
avsY—pT 050 X 1.00 X 005 = 003 o
AsiER L3 [2:40 ] Codtt 14050




& B T[4 Bh ) i T A5 2,5,9,43,47 Tkt & T.% (ZR5-8)
o E 2 B & Ripryy)
TR 1 ¢ 200 A AR ¢ 300-1100
BERR Cotht 10} 500
S L | mitEER L1 [3.06 I ShEE K
a2 [0.05 p——
| | FE BRIJEASC 0.05
. i
| z LA M-30 0.10
sl s g| &
3|l ] % R A RC-40 0.25
| R
|2 | <
o | 2 :
%% |
i
B | + T
o ! SRR 2 h o= (237 +[ 08 /2= 16 m
i
i fiHI (o) (162 -lo0s ) x 070 x 306 1/ 2= 168 nof
! L) A (e -0 ) x[ 070 <806 )/ 2 = 168
7 |
:Pﬁ | R (15) 0.30 + 0.216 ) X 0.70 X 3.06 = 1.11 m
SER L2 — R (RC) 162 - (005 + 010 -+ 030 -+ 0216 )}
’ x[o70 x| 306 = 200 uf
SRR AMER L3 3.06
il | R ) 010 x| 070 x| 306 = 021 i
I Sl e Bt | Pk asy 168 | +[ 168 = 33 o
= -
= | .
[ | =
& o N <
o L c [ <= : ‘“ii EMELSY 306 x| 375 |/l 1000 = o011 ot
5 i 8 |
= - _=—_ -4 —— A B b 3.06 X 2 o+ 1.00 X = 712 m
''''''''''''''''''''''''''''''''''''''''' SRR () 3060 x 60 = 306 o
AsiLsy 3.06 X 005 = 0.15 o
LG IR () 306 x| 1.00 = 3.6 -




‘\ k A Y — .
/N OBRTE KB BT B BORR T [ B ) fE THAT| 13,14,15,16,19,21,25,26,27,30,49,50,51 Tk ek B T3 (AR5-8)
o BB RuEmL)
HufrE g ¢ 150 A O ¢ 250-300
BEREColt 6 500
BERAREEIE 11 | BitEEE L1 [1od | ARG P
7 DES]
HIRLEIZ 12 I | FE BRIFEASC 0.05
' |
T ! : e BB M-30 0.10
% 0 . & YU
e E b % @iz RC-40 0.25
| R
== Il::' &
= = N
=| A | SR h o= (188 +/092 /2= 115 m
L |
® !
i Erdll (Bt {( 115 - 005 )X 070 X 1.04 }/ 2 = 0.40 i
. |
_ ! fin (A7) (( 115 -/ 005 )X 070 X 104 }/ 2 = 040 n
|
i
! 5 ) (030 +[omes ) x[0d0 <oA= 031 i
7 |
*F B | i (RC) (115 - (005 + 010 +/ 030 + 0165 )}
) x 070 X 1.04 = 039 o
HHER L2 1.04 |
P (M) 0.10 X 0.70 X 1.04 = 0.07 nf
F LSy 040 +| 040 = 0.80 n
e o e e | Cominsy (765) ol ”
= e T
= i g bR sy 1.04 X 313 / 1000 = 0.03 ot
£ 18 ) i S| =
:;E ~ e ((:)) ] % RO T 104 X 2 4/ 100 X 1 = 308 m
# ' B
. I : N SIS (bR Lo <100 - 038 = o066
o rem e ARy 066 %005 = o003 i
SR IR () 104 X 1.00 = 1.04 nt




A8 Bk [ B ]

17,18,35

TKIE K B T2 (AR5-8)

A EER L1 1.03

SRR AL

¥ & R mmyy)

Wi 0% ¢ 200 A DR
BER% Cotit ¢ 500

FJE FERIEASC

0.05

1.52

[ 1.42 ]

AREMEIRE H1
ALY H2

T

FEEE M-30

0.10

0.87

TREKE RC-40

0.25

RHVEE L2 1.03

JRAEIE W1
1.00

b

Eil

+ T
SR HEIIRES
S (&%)
A (AFD)

R (M)

iashar 1)

LR L5
e B M

EE N (Bt
AsTHALSy

SR 1R Oz

.20 - ( 0.06 + 0.10 + 0.30
X 0.70
0.10 X 0.70 X 1.08 = 0.07
0.41 + 0.41 = 0.82 m
1.03 X 375 /| 1000 = 0.04

.03 X 2 + 1.00 X 1

1.03 X 1.00 = 1.03 m
1.03 X 005 = 0.05 m
1.03 X 1.00 = 1.03 m

b 300
1.20 m

}/ 2 = 041 ot
}/ 2 = 041 ot
= 0.37 ies

+ 0216 ) }

X 1.03 = 0.39 f
o

o
3.06 m




PR S T ]

(¢ 500 )

3,6,8,11,20,22,23,24,28,29

fes H5
i L5 P 31,32,33,36,39,40,41,45,48,52

KBS B T2 (AR5-8)

SRS H3

NAX

{L\

AR 1 | 0.05 MR ER L1 [ 140 !
IAEHEEE 12
~ o~
© o~
el B
%2
= +H
| &
K| ¥
¥ & X
HERE 12 1.40 |
=
WH%E
£ jo
= o
=
E=S
®
b3

¥ B Fammyy)

HfHAE A o 150 AEOR

SRR

FE FERIEASC 0.05

LB M-30 0.10

TIEHE RC-40 0.25

+ T

R SEEIS h = (187 +/092 )/2 =
gkl (Bhk) {( 140 - 0.05 ) X 0.70 x| 1.40
FEHI ) {( 140 - 005 ) x 0.70 X 140
Lip (RC) (140 - 005 - 0.0 ) x 0.0
Hi B (M) 0.10 X 0.70 x| 140 = 0.10
A sy 0.66 + 066 = 1.32 o
Comilsy (THET) 0.11 m
kMg 05y 140 X 313 / 1000 = 0.04
Sl G 140 X 2+ 1.00 X 1 =
AHIERRARRY (BEAR) 140 X 1.00 = 1.40 nf
AsTRILSY 140 X 0.05 = 0.07 o
SlEARA IR CInEY) 1.40 X 1.00 = 1.40 nf

¢ 250-300-1100

1.40 m
}/ 2 = 0.66 nt
}/ 2 = 0.66 nt
X 140 = 1.23 ied
o

o
3.80 m




